V
a5 3

Grac/e 3 0"'6/@" 07( 0/96"'0’7[/'0”8 WOF/QSh@@?L
ADD/SUBTRACT/MULTIPLY W/ PARENTHESIS

- S NUMBERS
Solve the fo//owing.

1.8x6-(15+10-5)=______
29x (7+25-18-12)=______
3.3+14 + (20 - 9)
425-8+3x5x2=______
56 x4-(12+8-5)=______
6.5x(9+18-12-06)=______
7.7+20+(15-5)x3=______
8.30-7+2x6x4=______
94x8-(10+12-6)=______
10.5x (1M+20-15-8)=______
11.9+16 +(22-10)x3=______
1240-12+4 x5x3=______
13.6x7-(18+12-8)=______
14.8x (10 +15-10-5)=______
15.11+17+(18-9)x2=______
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1.35-10+0x4x2=______
23x9-(14+9-8)=______
3.7x(5+20-15-10)= ______
412+ 21+ (25-10)x2=______
5.50-15+3x7x2=______
6.4x5-(20+15-10)=______
7.6x(8+24-18-10)=______
8.9+25+(30-15)x3=______
9.45-12+5x0x2=______
10.7x8-(22+16-10)= ______
11.5x (12+20-15-5)=______
1210 +18 + (20-10) x4 = ______
13.30-9+7x5x1=______
14.8x6-(14+9-5)=______
15,4 x (11 +18-14-8)=______
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1.15+24 +(25-10)x3=______
2.55-20+3x8x2=______
3.9x5-(18+14-7)=______
4,7x(12+20-15-5)=______
513 +17 + (22 -12)x 2= ______
040-1M1M+o0x4x3=______
7.5x9-(16+14-10)= ______
8.6x(13+25-20-8)=______
Q.11 +22+(28-15)x2=______
10,60-20+4x7x1=______
11.8x7-(24+18-12)=______
12.5x (14 +30-20-8)=______
1312 +21+(18-8)x3=______
14.70-25+3x0x2=______
15.9x4-(12+15-7)=______




